FIRST Mm TERM TEST 2022
8.5 . MATHS = P

I Fillinthe blanks.

| . No. -
Time : 1.30 Hrs - Marks : 50
I Choose the correct answer. _ 5X1 5.
1 Whlch of the following palrs is equlvalent? - :
° C e I8 B i 20 -”d'-i )
a) RTERT 936 u D507
3y z;_l_ s
2 "Wl Pl W oA A s es e ot 3 1
5 - . ;5 e =p iy
Bl 1 b wnd) T | 13- e ey ) 16 .+ -

3 (Ll)"éX-l-—gxl' e that multpl tion is distrib ti‘ ¢
e Sl e e R e .Illustratet at multiplication is distribu vgover_
a)addition  b) subtraction ) multiplication . d) division

4. The square of 43 ends with the digit ................ .

a) 9.  b)6 4 d) 3
5. 0.0000000002020 in decientific form s ...............

2)2.02X10°  b)2.02 X 10 . 92 02X 10-8 d) 2.02 x 10710

| 8 o &R i51x5=5
6. - The rational numbers -3- and 3 are equIdIstant from ... et i
- 7. The rational number ............ does nol: havearec!procal :
- 8. Fora=z0,a%s....... s e 0y |
‘ 9, Aline segment which joins any two palnt:s ona circle T
.. 0. - Acube has .......... . faces!
Oom Mawhmofollowmg._ | | < 5X1=5
il gy o AL Ee VL RS gt o B G e
.;'-11_;...-.Area:ofac1r¢|e-_ 3‘6'53”"2 *
i3 A2, Clrcumference A S Y, e :
13, Area of the sector AR Jorcr! | iR L E
c 14, ‘a Xa T fi ey o 1 224 cort W
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"PART- B

Answer any five questions. - : R ; 2 X5=10
. e ) ' 5

Find a ration number -ibetween and 9"

I R R

1§ ey el DN

7 '

. Tl X _'

Evaluate . 3.3

Simplly : V3 X 3.

4

Is 108 a perfect square number e : ‘
- A-spinner of radius 7.5cm s divided into 6 equal sectors. Find the area of each

. of each of sector.

22,

o< &

24,

25.

26,
2

- 28;

; VFI.-‘_
29,

> -Iength of an are,

~ A dircualr shaped gymnasium ring of radlus 35cm is divided into 5 equal arc h
- shaded with different colours. Fincf the length of each of the arcs.

: PART- C: e ;
Answer any four queshons ST T b . 5X4=20
s O 20 '
Find=(a+b)-+_(a--b) tfaf—‘—, ==,
| S R (T
B | , _
The product of two ratlonal numbers Is 5 If one number is ; then find the

'other

Find the square root of 576.

Find the cube root of 24 X 36 X 80 X 25 .

Find-'x' 5o that (~7)+2 X (-7)5'= (-7)10", |

‘The radius-of a sector is 21cm and its centre angle is 1209, Flnd the area and

e e “mr,-.p.-_ AN
Answarthefollowlng.,_ s S 1X5= 5

~Construct a quadrilateral DEAR with DE = 6cm CA = Scm, AR = 5.5cm,

RD = 5.2 cm and DA =10'cm, Also find its. area (OR)

- Construct a quadrllateral MATH with MA = 4cm, AT 3 6cm, TH = 4;5cn1’,'

MH Sem, LA = 85" Find its area.
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